What isthe prime factorization of 45?7 3x3%x5
2X3%3
5x9

Answer: 3*3*5

Step-by-step explanation:
45=5*9

9=3*3

=5*3*3

Answer:

2x3x3

Step-by-step explanation:

Itswhat | Got.

HELP PLS Which words help create the mood in the excerpt? Check all that apply.

BEHAVE

POUND

SHOUT

HEAD

RAGE

COUNTED

During the period 1865-1900, which of the following was a characteristic of disputes between labor and management
What is equivalent to 1.43 x 10??



The term 3x"2 in the quotient is the result of dividing 3x*4 by
Which feature forms most of the ocean floor? Describe in detail. Be specific. *
Find the speed of sound in air that is 30.0°C.

350
314

18

Original price $100 new price $68 what is the percent of decrease

One astronomical unit is about 1.496x 1078 kilometers of you wrote thisin regular decimal notation how many zeros would your number have
Factor 2x2 - 50 completely.

Which word in the sentence is the direct object? One fisherman in Florida catches worms in a special way. a. way

b. worms

c. Florida

d. fisherman

Where might you look on the internet to find good scientific information about an illness

The way in which Faustus uses his powersisincreasingly .

Which of the following are true about the correlation coefficient r? Select one or more: If the correlation coefficient is +1, then the slope of the regression lineis
also +1.

The correlation coefficient is always greater than 0.

If the correlation coefficient is close to O, that means there is a strong linear relationship between the two variables.
The correlation coefficient will change if we change the units of measure.

The correlation coefficient is always between -1 and +1.

If the correlation coefficient is positive, the slope of the regression line will also be positive.

What two factors largely influence ocean currents?

If there are 7 men and 3 woman in aroom , which of the following represents the radio of men woman

Vaccination should not be a choice, but more states are passing laws that allow parents to send their children to school without their shots. Vaccines are not
perfect; there is always some risk. But the risk is negligible when we consider the threat an unvaccinated society presents to us all. Which technological resource
would be most helpful for getting more information about the potential risks of not being vaccinated? A) a personal blog about the pros and cons of vaccinations
B) a streamed video of an autism advocate's views on vaccines C) an online news report on the number of people who choose not to vaccinate their children D) a



spreadsheet charting the number of people affected by vaccine-preventabl e diseases each year

A moose population is growing exponentially following the pattern in the table shown below. Assuming that the pattern continues, what will be the population
of moose after 12 years? Show all your work! Round your answer to the nearest whole number.

During world war ii many mexican immigrants came to the united states

1. Home
2. More Solution
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